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Choose the correct answer/Answer the

following :
(@) IO H (TR 4T

National income is a

(i) +f/ Capital
' (ii) oqz/Flow

(iti) ﬂq@/Stock

(iv) ff/Fund
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(c)
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(2)
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During inflation, price

level
remains constant/rises).

(falls/

Which of the following is n ot a function
of commercial bankp

(i) 49 ﬂﬂ'@q I

To control credit

(ii) 49 fjﬁ N
To create credit

To accept deposits

) &R oy

Agency Services

Write the formyjg of . .
to consume Mmarginal propensity

( Continued]

(e)

(9)

g
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(3)

TR ARTT T R T RIS -
|

The cash transactions appr.o.ach bto
qu:ntity theory of money was given by

(i %7 / Keynes

(ii) .W / Marshall

(iij) KA / Robertson

(iv) RoWa / Fisher

Y HION THO! TGO (A ARG ?

Who propounded the purchasing power
parity theory?

SreR(e TRATY W 2R

izati d in-
In India, liberalization starte
i) 1951
(ii) 1961
(iii) 1991

(iv) 2001

@qs{ﬁwmﬁi?

What is per capita income?

( Turn over)
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2. R o o oY Gt B (2R 150 = w1/ Or

W) : 4x4=16
:Vsr;cew sl:;)rt notes on any four (within (b) =S fam WWW - 12
ords each) : Define the following concepts : ‘
(o) RIS WIF IR ALY el () frgh B S
Difference Net National Product
microecon:;ti?: =1t macroeconomics and (i) JB A
(b) '3 IR RR National Income
Say’s Law of Markets (i) To T T
(c) m 91 Fruge . Gross Domestic Product
TaS (iv) 4TS TFA TRATA
Selective credit contrg) method ' Real Domestic Product
(d) R ey ° (v) TS o
World Trade Organization Personal income
(e) TR w3y (vi) TS JFCAM S
Disposable personal income

Demand for money

T ol R B oy (o ' R R T Gl AN
Answer the followin 00 13 fSoe) : STCE e ¥ 3+8=11
each) : € Questions (within 500 words Define money. Discuss the significance
i dern economy.
3. (@) T wdy _ of money in mo
W‘R:;:Wwﬁ?‘lf’ E‘@“g o o s/ Or
Wm"i”wmwg;;mwﬁ p) Ja AR wgq AW CEECE GIST
' A 2 ST T e | 11
What is GNP? 2+6+4=1 . .
calculating GNPExplain the methods of Explain critically the cash transactlonSf
: i tity theory O
between GNP o 4 :léllgn the diffelfences 2?:1::;&1 to the quantity ry
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(6) (7)

S. (a) "T’.\‘;%"mﬂ AT TF At Togers 2ETON_ %41/ Or
e B | oW o oewehr w1 4+7=11
Wri :
tor:t:n?e meaning of average propensity (b) e G O (AT e T A B |
consu tme and marginal propensity to P AR G SIPTHRMOR 8RR
me: Explain the absolute income e 790 | 4+7=11
hypothesis. JEIIPTR
L Distinguish between balance of
/ Or payments and balance of trade. Mention
(b) FEFR the measures for correcting
wnﬁmwm OO e w4l | WA disequilibrium in the balance of
R 8+3=11 payments.

~ Discuss the Keynesian theory of

empl
mployment. What are jts drawbacks?
&k A
6. (a
) IR @ TR T 11

Explain the func

bank. tions of commercial

9T/ Or

B o, s
Explain how the ce

credit createq by thentral bank controls

commercial banks.

7. (a} mmg
meﬁqwmﬁW 5

Critically djgc
: u . .
Internationg) Tj:;:e Ricardian theory of

(Conﬁ"“ed} P16—10*/446




